Svenska Bridgeférbundet
IAF Allsvenskan, division 2, 4:1 2015-08-29

IMP over faltet, 48 bord, 96 par. Antal brickor: 12.
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Namn

Olof Bergstrom - Jan-Erik Thomasson
Marten Gustawsson - Ulf Nilsson
Ronny Ovesson Ejnell - Jan-Erik Asmo
Kalle Aldeborg - Kent Karlsson

Ylva Johansson - Per Clarin

Ola Stavas - Tomas Brenning

Bjorn Sanzén - Peter Billgren

Mart Altmée - Mats Axdorph

Tommy Svensson - Arne Jordestedt
Lars-Goran Larsson - Thomas Axenbratt
Mikael Johansson - Jonas Dawerstrand
Lars-Goran Ostlund - Jan Fransson
Harald Sjéman - Ingvar Grahn

Jan Ahlgvist - Jan Konar

Lars Lundgvist - Bjorn Andersson
Arne Ericson - Leif Bjérkman

Pia Olofsson - Peter Rundquist
Hakan Straaf - Mats Sjoberg

Simon Hult - Adam Stokka

Perry Sjoberg - Jan Gutenwik

Johan Séfsten - Per-Erik Malmstrém
Per Ostlund - Robert Back

Niklas Andrén - Daniel Gustafsson
Gullvi Ht')gberg - Soren Lennartsson
Par Ol-Mars - Kenneth Borin

Magnus Hultman - Joachim Borgel
Sanna Clementsson - Linus Dahlstrom
Goran Linerudt - Niclas Johansson
Per-Olof Larsson - Daniel Gustavsson
Fredrik Jarlvik - Tatyana Trendafilova
Jorgen Lantz - Ricky Johansson
Yvonne Wiseman - Emma Ovelius
Mikael Lindblom - Jan Andersson
Lars Ericson - Bo Ericson

Leif Andréasson - Gerhard Jorgensen
Carsten Kofoed - Ingemar Andersson
Lars Goldberg - UllaBritt Goldberg
Bengt Stahre - Peder Skaj

Peter Modh - Micke Melander

Tony Elmroth - Mats Jakobsson

Bjorn Wenneberg - Géran Andersson
Gunnar Sjokvist - Henrik Morin

Dan Bylund - Helena Stromberg
Daniel Anteryd - Teo Bodin

Maria Gronkvist - Catharina Ahlesved
Mats Pettersson - Jan Becklén

Eric Behm - Rawad Hadad

Leif Norén - Anders Enstrém

Torbjorn Gustavsson - Emanuel Unge
Mattias Weiler - Jenny Rudenstal
Johnny Blid - Carl Ragnarsson
Kathrine Bertheau - Jessica Larsson
Anders Palmgren - Mikael Westerlund
Christer Eriksson - Thomas Ivarsson
Hans Lovestig - Mikael Alexandersson
Lennart Persson - Kent Maltein
Tomas Andgren - Per Sjéberg

Tomas Blomster - Rune Sjo

Anders Wike - Stefan Westlund
Anders Blomqvist - Lars Manneteg
Lars Nilsson - Andreas Konyves
Pontus Karlsson - Torbjorn Olsson
Tommy Linder - Jonas Gustafsson
Torbjorn Sandbéack - Par Unander
Thomas Brehmer - Johan Gronkvist
Per Jansson - Lars Kennethsson
Rune Johansson - Peter Morin
Anders Dellien - Reinhold Karlsson
Eric Arvidsson - Karl Asplund

Christer Glimsj6 - Morgan Svensson
Jonas Engstrom - Daniel Sivelind
Lars Olsson - Borje Liljekvist

Bengt Lundberg - Kjell Glans

Michael Claesson - Johan Arvidsson
Lena Johansson - Leif Johansson
Carina Sjoblom - Lennart Bylund
Gunnar Nilsson - Hakan Ottosson
Jons Johansson - Kjell Carlsson
Thomas Ekendahl - Bengt-Ake Leskinen
Jan Nilsson - Torgild Olsson

Anette Svenningsson - Jan Wass
Bjorn Ohlsson - Peter Olofsson
Ingemar Assarsjo - Peter Norrhede
Anders Erikson - Ylva Pyykkd

Lars Ornberg - Tomas Linder
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86 A202 -1.34 Claes Ahgren - Tomas Bérgesson 2664 1073
87 C205 -1.44 Suzanne Lemborn - Michael Lemborn 14984 1215
88 D306 -1.75 Markus Hedstrém - Per Schullstrom 87082 28089
89 B103 -2.00 Morgan Antonsson - Johan B. Lisra 8076 137
90 F302 -2.01 Elke Weber - Friedrich Weber 48110 53416
91 A6 -2.02 Kjell Lomarker - Magnus Barkskog 18571 201
92 H104 -2.10 Micke Glyssner - Goran Nordberg 2607 5369
93 D105 -2.24 Catarina Midskog - Anders Stavarby 2490 8605
94 D103 -2.42 Jan Hanner - Billmar Carlsson 10179 1935
95 G203 -2.69 Sven-Erik Hallkvist - Carina Hallkvist 12984 6161
96 A5 -2.76 Anders Johansen - Per-Ake Jansson 82466 2714
1 473 Basta kontrakt 2 4 D10863 Basta kontrakt 3 4 Kn932 Basta kontrakt
Nord v DKn4 3NT N =400 Ost v 876 5v O =-450 Syd vE98 44 V =-620
Ingen 49632 NS +D2 ov + Kn107
#Kn1065 & ¢ v & NT #1072 & ¢ v & NT £K97 & ¢ v & NT
2 KD986 4105 N 7 106 6 9 « Kn9 &« E542 N49 257 464 « KD1075 N35232
v 762 v E10953 S 7 106 6 9 vE1054 ¥ KDKn93 S49257 vD10754 vK2 S35232
+54 + D10 O6 376 4 47654  ¢- 09 4 117 5 + ED2 4 853 O 9 8 10109
+D72 #K843 V63764 #D65 #KKn43 V9 4 117 5 #Knl02 #ED4 vV 9 8 10109
& EKn42 & K7 4 E8
v K8 v2 v Kn63
+ EKKn87 + EKKn10983 + K964
*E9 #E98 #8653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C2 C202 3NS+1 46 430 184.0 -184.0| C5 C205 5¢ S= vA 600 632.0 -632.0| E4 E204 3N O-3 ¢6 300 495.0 -495.0
G2 G202 3N S+1 #5 430 184.0 -184.0 |H101 H301 5vD O -14 K 100 416.0 -416.0 |D103 D303 3NO-1 ¢4 100 337.0 -337.0
G5 G205 3N S+1 &K 430 184.0 -184.0 |F105 F305 5v O-2 ¢A 100 416.0 -416.0| A6 A206 INV= ¢J -90 162.0-162.0
E6 E206 3NS+1 48 430 184.0 -184.0 |[F106 F306 5¢ D O-1¢A 100 416.0 -416.0| C2 C202 24 O= +¢6 -110 122.0 -122.0
G6 G206 3NS+1 «6 430 184.0 -184.0| C4 C204 4v O-1 +Q 50 380.0 -380.0 |D106 D306 24 O= ¢J -110 122.0 -122.0
D102 D302 3NS+1 46 430 184.0 -184.0| E4 E204 5v O-1 ¢K 50 380.0 -380.0| E1 E201 INV+1 ¢J -120 121.0 -121.0
H102 H302 3NS+1 4«6 430 184.0 -184.0 |D106 D306 5v O-1 ¢A 50 380.0 -380.0| C4 C204 INV+1 ¢J -120 121.0 -121.0
B105 B305 3N S+1 4K 430 184.0 -184.0 |H106 H306 5v O-1 ¢A 50 380.0 -380.0| G4 G204 1INV +1 ¢J -120 121.0 -121.0
D106 D306 3N S +1 &2 430 184.0 -184.0| A6 A206 4¢ S-1 ¢5 -100 247.0 -247.0|B105 B305 INV+1 ¢J -120 121.0 -121.0
Al A201 3NS= &K 400 143.0 -143.0| E2 E202 3v O+1 ¢A -170 171.0-171.0| C3 C203 24 V+1 v8 -140 810 -81.0
E1 E201 3NS= 4K 400 143.0 -143.0 ([B105 B305 3v O+1 ¢A -170 171.0 -171.0| C5 C205 24 O+1 ¢6 -140 810 -81.0
E2 E202 3NN= 4T 400 143.0 -143.0 |[B106 B306 3v O+1 ¢A -170 171.0 -171.0 |H101 H301 24 O+1 ¢6 -140 81.0 -81.0
E3 E203 5¢ N= ¥A 400 143.0 -143.0 ([B102 B302 5¢ S-2 vA -200 147.0-147.0| G1 G201 INV+2 ¢J -150 810 -81.0
G3 G203 5¢ S= v2 400 143.0 -143.0| Al A201 4v O= ¢A -420 -99.0 99.0| E2 E202 INN-3 K -150 81.0 -81.0
G4 G204 3NN= ¥5 400 143.0 -143.0| C1 C201 4v O= ¢A -420 -99.0 99.0| E3 E203 INV+2 ¢J -150 81.0 -81.0
C5 C205 3NS= &K 400 143.0 -143.0| E1 E201 4v O= ¢A -420 -99.0 99.0| A5 A205 INV+2 ¢J -150 81.0 -81.0
B101 B301 3NS= 4K 400 143.0 -143.0| C2 C202 4v O= ¢A -420 -99.0 99.0| E5 E205 INV+2 ¢J -150 810 -81.0
D101 D301 3NS= ¥2 400 143.0 -143.0| G2 G202 4y O= ¢A -420 -99.0 99.0| E6 E206 INV+2 ¢J -150 81.0 -81.0
F101 F301 3NS= 3 400 143.0 -143.0| E3 E203 4v O= ¢K -420 -99.0 99.0|D101 D301 INV+2 ¥v8 -150 81.0 -81.0
B102 B302 3NS= v2 400 143.0 -143.0| G4 G204 4v O= ¢K -420 -99.0 99.0|F101 F301 INV+2 ¢J -150 81.0 -81.0
F102 F302 3NS= &K 400 143.0 -143.0| A5 A205 4v O= ¢K -420 -99.0 99.0|D102 D302 2N O +1 #3 -150 81.0 -81.0
F103 F303 3N S= &K 400 143.0 -143.0| E6 E206 4v O= ¢A -420 -99.0 99.0|F102 F302 INV+2 ¢J -150 81.0 -81.0
F104 F304 3NN= T 400 143.0 -143.0 ([B101 B301 4v O= ¢A -420 -99.0 99.0|H104 H304 1INV +2 ¢J -150 81.0 -81.0
H105 H305 3N N= «&T 400 143.0 -143.0 |F101 F301 4v O= ¢A -420 -99.0 99.0|F105 F305 INV+2 ¢J -150 81.0 -81.0
A2 A202 24DV -2vQ 300 19.0 -19.0 D102 D302 4y O= ¢A -420 -99.0 99.0|H105 H305 1INV +2 ¢J -150 81.0 -81.0
A5 A205 2N S+2 46 180 -115.0 115.0 |[F102 F302 4v O= ¢A -420 -99.0 99.0|B106 B306 1INV +2 ¢J -150 81.0 -81.0
E5 E205 INS+3 42 180 -115.0 115.0 (D103 D303 4v O= K -420 -99.0 990 G5 G205 3v V+1 «#7 -170 440 -44.0
B104 B304 INS+3 4K 180 -115.0 115.0 (D104 D304 4v O= ¢K -420 -99.0 99.0|B102 B302 24 O+2 #5 -170 44.0 -44.0
Cl1 C201 INS+2 v7 150 -144.0 144.0 [F104 F304 4y O= ¢A -420 -99.0 99.0(F103 F303 24 O+2 v3 -170 440 -44.0
G1 G201 2¢ S+3 v2 150 -144.0 1440| G1 G201 4v O+1 ¢A -450 -140.0 140.0| Al A201 2NO+2 ¢6 -180 37.0 -37.0
A3 A203 3¢ S+2 v2 150 -144.0 144.0| A2 A202 4v O+1 ¢A -450 -140.0 140.0| C1 C201 INV+3 ¢J -180 37.0 -37.0
C3 C203 3¢ S+2 v6 150 -144.0 1440| A3 A203 5v O= K -450 -140.0 1400 A2 A202 INV+3 ¢J -180 37.0 -37.0
C4 C204 3¢ S+2 v2 150 -144.0 1440 C3 C203 4v O+1 ¢A -450 -140.0 1400 G2 G202 1INV +3 ¢J -180 37.0 -37.0
E4 E204 2¢ S+3 ¢5 150 -144.0 1440| G3 G203 4v O+1 ¢A -450 -140.0 140.0( A3 A203 INV+3 ¢J -180 370 -37.0
C6 C206 3¢ S+2 4K 150 -144.0 1440| A4 A204 4v O+1 ¢A -450 -140.0 1400 A4 A204 INV+3 T -180 37.0 -37.0
D103 D303 34 S+2 v2 150 -144.0 144.0| E5 E205 5v O= ¢A -450 -140.0 140.0| C6 C206 1INV +3 ¥8 -180 37.0 -37.0
H103 H303 INS+2 ¥3 150 -144.0 144.0| G5 G205 4v O+1 ¢K -450 -140.0 140.0| G6 G206 1INV +3 ¢J -180 37.0 -37.0
D104 D304 2N S+1 4Q 150 -144.0 144.0| C6 C206 4v O+1 ¢A -450 -140.0 140.0 |H102 H302 1INV +3 ¢J -180 37.0 -37.0
D105 D305 3¢ S+2 v2 150 -144.0 144.0| G6 G206 4y O+1 ¢K -450 -140.0 140.0 |[D104 D304 INV+3 ¢T -180 37.0 -37.0
B106 B306 3¢ S+2 v2 150 -144.0 144.0 [H102 H302 4v O+1 ¢A -450 -140.0 140.0| G3 G203 3NO= 46 -600 -380.0 380.0
H101 H301 2¢ S+2 ¥2 130 -182.0 182.0|B103 B303 4v O+1 ¢A -450 -140.0 140.0 |B103 B303 3NO= &6 -600 -380.0 380.0
F105 F305 3¢ S+1 ¢5 130 -182.0 182.0 |F103 F303 4v O+1 ¢A -450 -140.0 140.0 |H103 H303 3NO= 6 -600 -380.0 380.0
H106 H306 3¢ N+1 T 130 -182.0 182.0 |H103 H303 4v O+1 ¢A -450 -140.0 140.0 |F104 F304 3NO= 4 -600 -380.0 380.0
A4 A204 24 V-2 ¢6 100 -211.0 211.0 |B104 B304 4v O+1 ¢A -450 -140.0 140.0 |[F106 F306 3NO= ¢4 -600 -380.0 380.0
A6 A206 24 V-2 #J 100 -211.0 211.0 [H104 H304 4y O+1 ¢K -450 -140.0 140.0 [H106 H306 3NO= ¢6 -600 -380.0 380.0
H104 H304 24 V-2 vQ 100 -211.0 211.0 |D105 D305 4v O+1 ¢A -450 -140.0 140.0 |B104 B304 3NO+1 ¢6 -630 -404.0 404.0
F106 F306 3v V-2 ¢3 100 -211.0 211.0 [H105 H305 4v O+1 ¢A -450 -140.0 140.0 |D105 D305 3NV +1 ¢J -630 -404.0 404.0
B103 B303 5¢ S-1 v2 -50 -357.0 357.0|D101 D301 5¢DS-2vA -500 -203.0 203.0|B101 B301 INDS-4v4 -800 -513.0 513.0
4 4 Kn73 Basta kontrakt 5 4 K107 Basta kontrakt 6 41094 Basta kontrakt
Vast v 10642 3NT V =-600 Nord v7 34 O =-140 Ost v K9 ANT O =-630
Alla ¢+ E762 NS ¢ EK742 ov + EKKNn1042
&54 & ¢ v & NT #9652 & ¢ v & NT &Kn7 & ¢ v & NT
+ K10 & E9852 N4 46 44 4 E65432 D8 N57 534 4 852 & EKn7 N3 7 353
vKKn83 v7 S 446 44 v EK65 v432 S575 34 vDKn1073 vE6 S27 353
¢ DKn84 ¢ K105 0997909 +8 ¢ Kn1063 O6 6 7 9 8 +83 + D75 O 106 9 8 10
#962 #EDKn3 V99799 *EK #D1083 V667938 *EK2 #D10854 V 106 9 8 9
« D64 4 Kn9 4« KD63
v ED95 v DKn1098 v 8542
493 + D95 + 96
#K1087 +Kn74 2963
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G3 G203 44 O-2 ¢9 200 428.0 -428.0| E6 E206 3v V-2 ¢K 100 375.0 -375.0| G3 G203 3¢DN= vA 470 537.0 -537.0
H102 H302 5¢ O-2 ¢9 200 428.0 -428.0| A4 A204 44 V-1 ¢A 50 331.0 -331.0 |B101 B301 3¢ N= ¢A 110 265.0 -265.0
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D102 D302 3NV-1 ¥2 100 343.0 -343.0| C6 C206 3v V-1 ¢A 50 331.0 -331.0 E6 E206 4v V-1 ¢K 100 252.0 -252.0
H106 H306 3NV -1 ¥4 100 343.0 -343.0 (B104 B304 44 V-1 ¢A 50 331.0 -331.0 A3 A203 2¢ N= vA 90 241.0 -241.0
C3 C203 3¢ V= v4 -110 147.0 -147.0 Al A201 14 V+1 ¢A -110 170.0 -170.0 E3 E203 2¢ N= vA 90 241.0 -241.0
E5 E205 24 O= 49 -110 147.0 -147.0| C3 C203 24 V= +A -110 170.0 -170.0 E5 E205 2¢ N= vA 90 241.0 -241.0
D105 D305 24 O= 49 -110 147.0 -147.0 |H101 H301 24 V= ¢A -110 170.0 -170.0| G1 G201 3¢ N-1 vA -50 95.0 -95.0
B106 B306 2¢ V+1 ¢2 -110 147.0 -147.0|B103 B303 24 V= v7 -110 170.0 -170.0( C3 C203 3¢ N-1 vA -50 95.0 -95.0
B101 B301 2NV = ¥4 -120 142.0-142.0( G5 G205 24 V+1 ¥7 -140 130.0 -130.0|D101 D301 3¢ N-1 vA -50 95.0 -95.0
C6 C206 3¢ V+1 #5 -130 119.0 -119.0 ([F101 F301 24 V+1 ¥7 -140 130.0 -130.0 [F104 F304 3¢ N-1 vA -50 95.0 -95.0
Al A201 24 O+1 ¢9 -140 112.0 -112.0 |H102 H302 14 V+2 ¢A -140 130.0 -130.0 E1 E201 3¢ N-2 &4 -100 27.0 -27.0
C2 C202 24 O+1 ¢9 -140 112.0 -112.0 |[F105 F305 14 O+2 ¢A -140 130.0 -130.0| C2 C202 3¢ N-2 #4 -100 27.0 -27.0
A4 A204 24 O+1 ¢9 -140 112.0 -112.0 |H105 H305 14 V+2 ¢A -140 130.0 -130.0| C4 C204 3¢ N-2 #3 -100 27.0 -27.0
G4 G204 24 O+1 ¢9 -140 112.0 -112.0 E1l E201 24 V+2 v7 -170 93.0 -93.0( G6 G206 3¢ N-2 &4 -100 27.0 -27.0
C5 C205 24 O+1 ¢9 -140 112.0 -112.0| C2 C202 34 V+1 v7 -170 93.0 -93.0 Al A201 3«V= 49 -110 22.0 -22.0
G6 G206 24 O+1 ¢3 -140 112.0 -112.0| C4 C204 24 V+2 ¢A -170 93.0 -93.0 A4 A204 2v V= ¢A -110 22.0 -22.0
F101 F301 24 O+1 ¢9 -140 112.0 -112.0| G6 G206 14 V+3 ¢K -170 93.0 -93.0( G4 G204 2vV= +A -110 22.0 -22.0
H101 H301 24 O+1 ¢9 -140 112.0 -112.0 [F102 F302 14 V+3 ¢A -170 93.0 -93.0( C6 C206 3# 0= 46 -110 22.0 -22.0
B102 B302 24 O+1 9 -140 112.0-112.0( G1 G201 14 V+4 A -200 57.0 -57.0|B102 B302 3# O= 9 -110 22.0 -22.0
F102 F302 24 O+1 ¢9 -140 112.0 -112.0| G2 G202 24 V+3 v7 -200 57.0 -57.0|F103 F303 3#O0= 49 -110 22.0 -22.0
B103 B303 24 O+1 ¢9 -140 112.0 -112.0 A3 A203 3¢DN-14Q -200 57.0 -57.0(B105 B305 2v V= +¢A -110 22.0 -22.0
F103 F303 24 O+1 44 -140 112.0 -112.0| G3 G203 2¢DN-14Q -200 57.0 -57.0|F106 F306 3# O= 9 -110 22.0 -22.0
B104 B304 24 O+1 ¢9 -140 1120 -112.0| G4 G204 34 V+2 v7 -200 57.0 -57.0 (H106 H306 3# O= ¢9 -110 22.0 -22.0
B105 B305 24 O+1 ¢9 -140 112.0 -112.0|B101 B301 14 V+4 v7 -200 57.0 -57.0|F102 F302 2NO= 49 -120 12.0 -12.0
F105 F305 24 O+1 ¢3 -140 112.0 -112.0|B102 B302 3¢DN-14Q -200 57.0 -57.0|D104 D304 2NO= +¢6 -120 12.0 -12.0
H105 H305 24 O+1 ¢9 -140 112.0 -112.0|B105 B305 14 V+4 v7 -200 57.0 -57.0 [H105 H305 2NO= +¢9 -120 12.0 -12.0
D106 D306 24 O+1 9 -140 112.0 -112.0|B106 B306 1e V+4 ¥¢5 -200 57.0 -57.0 (D106 D306 3« O+1 ¢9 -130 -14.0 14.0
Cl1 C201 INV+2 ¥4 -150 111.0 -111.0|D106 D306 24 V+3 ¢A -200 57.0 -57.0 E2 E202 2y V+1 ¢A -140 -240 24.0
A2 A202 2NV +1 v4 -150 111.0 -111.0 [H106 H306 1 V+4 ¢ A -200 57.0 -57.0| G2 G202 2v V+1 ¢A -140 -240 24.0
D101 D301 1INV +2 6 -150 111.0-111.0 A6 A206 3¢ N-3 #Q -300 -640 64.0( C5C205 2v V+1 ¢A -140 -24.0 240
E2 E202 24 O+2 49 -170 77.0 -77.0 E5 E205 3NO= 4 -400 -163.0 163.0 A6 A206 3v V= ¢A -140 -24.0 24.0
E3 E203 24 O+2 ¢9 -170 77.0 -77.0(D101 D301 3NO= vQ -400 -163.0 163.0 |F101 F301 2v V+1 ¢A -140 -24.0 240
E1l E201 2NV +2 v4 -180 64.0 -64.0( C1 C201 44 V= ¢A -420 -197.0 197.0|D102 D302 2v V+1 ¢A -140 -24.0 24.0
C4 C204 2NV +2 &5 -180 64.0 -64.0 A2 A202 44 V= ¢A -420 -197.0 197.0 (B104 B304 34 O+2 ¢9 -150 -29.0 29.0
G1 G201 3NV= ¥2 -600 -345.0 3450 C5 C205 44 V= 7 -420 -197.0 197.0 A5 A205 3v V+1 ¢K -170 -62.0 62.0
G2 G202 3NV= ¥4 -600 -345.0 345.0 (D102 D302 44 V= ¢A -420 -197.0 197.0| G5 G205 2v V+2 ¢K -170 -62.0 62.0
A3 A203 3NV= 46 -600 -345.0 345.0 (D103 D303 44 O= vJ -420 -197.0 197.0 |H101 H301 3v V+1 #J -170 -62.0 62.0
E4 E204 3NV= ¥4 -600 -345.0 345.0|F103 F303 44 V= ¢A -420 -197.0 197.0 |H102 H302 2v V+2 ¢A -170 -62.0 62.0
A5 A205 3NV= ¥4 -600 -345.0 345.0 [H103 H303 44 V= ¢A -420 -197.0 197.0 |B103 B303 2vy O+2 ¢A -170 -62.0 62.0
G5 G205 3NV= ¢6 -600 -345.0 345.0 (D105 D305 44 V= ¢A -420 -197.0 197.0 [H104 H304 2v V+2 ¢A -170 -62.0 62.0
E6 E206 3NV= ¥4 -600 -345.0 345.0 E2 E202 44 V+1 ¢A -450 -228.0 228.0 |D105 D305 3v V+1 ¢A -170 -62.0 62.0
D103 D303 3INO= &7 -600 -345.0 345.0 E3 E203 44 V+1 ¢K -450 -228.0 228.0 A2 A202 2v V+3 ¢A -200 -101.0 101.0
D104 D304 3NV = 42 -600 -345.0 345.0 E4 E204 44 V+1 ¢A -450 -228.0 228.0 E4 E204 2v V+3 ¢K -200 -101.0 101.0
F104 F304 3NV= v2 -600 -345.0 345.0 A5 A205 44 V+1 ¢K -450 -228.0 228.0 ([H103 H303 2v V+3 ¢A -200 -101.0 101.0
H104 H304 3NV = v6 -600 -345.0 345.0 |D104 D304 44 V+1 ¢K -450 -228.0 228.0 [F105 F305 2v O+3 ¢6 -200 -101.0 101.0
F106 F306 3NV = ¥2 -600 -345.0 345.0 |F104 F304 44 V+1 ¢A -450 -228.0 228.0| C1 C201 3NV +l1 ¢9 -630 -485.0 485.0
H103 H303 3NV +1 v6 -630 -367.0 367.0 |H104 H304 44 V+1 ¢K -450 -228.0 228.0 |B106 B306 3NO+1 ¢9 -630 -485.0 485.0
A6 A206 3NO+2 ¢v5 -660 -403.0 403.0 [F106 F306 44 V+1 ¢A -450 -228.0 228.0 |D103 D303 3NO+2 4Q -660 -504.0 504.0
7 & Kn5 Basta kontrakt 8 & KKn105 Basta kontrakt 9 a3 Basta kontrakt
Syd v 76432 3¢ V =-110 Vast vD10984 5¢v N =450 Nord v E93 ANT N D -1 -100
Alla 4932 Ingen + 872 ov + K10863
&E85 & ¢ v & NT &10 & ¢ v & NT D654 & ¢ v & NT
4 KD1096 #87 N6 48 45 « ED96 « 83 N6 6 11108 - 4KD10987642N 5 7 8 2 9
vE v K105 S6 4845 v6 v K32 S 6 6 11108 v 852 v7 S578209
¢ KKn654 ¢ D107 O7 9486 + 1064 ¢+ KDKn53 O6 6 132 ¢+ DKNn972 +E O7 6 4 104
&DKn 97643 V7948€6 &#DKn875 %962 V56132 &#EK1093 #82 V76 4 104
4 E432 & 742 & EKn5
v DKn98 v EKn75 v KDKn1064
+E8 +E9 +54
K102 &EK43 &Kn7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E1l E201 24 V-3 7 300 424.0 -424.0 (F101 F301 5¢DV -3 500 179.0 -179.0 | G3 G203 64D O -2vK 500 686.0 -686.0
D101 D301 3v S= &K 140 273.0 -273.0| C1 C201 4v N+2 «8 480 143.0 -143.0| C5 C205 54 O-1 ¥K 100 529.0 -529.0
A4 A204 1s4 V-1 ¥2 100 233.0 -233.0| G3 G203 4v S+2 #Q 480 143.0 -143.0 |H101 H301 54 O-1 ¥K 100 529.0 -529.0
C4 C204 340-1 vQ 100 233.0 -233.0 ([B101 B301 4v S+2 #Q 480 143.0 -143.0 E1 E201 5¢vDS-2&A -300 306.0 -306.0
B104 B304 44 V-1 «J 100 233.0 -233.0 [F102 F302 4v N+2 «8 480 143.0 -143.0 A2 A202 5vDS-2v2 -300 306.0 -306.0
D104 D304 14 V-1 ¥6 100 233.0 -233.0 |[B103 B303 4v S+2 v4 480 143.0 -143.0| G1 G201 5vD S-3#K -500 79.0 -79.0
H106 H306 3# O-1 vQ 100 233.0 -233.0 Al A201 4v N+1 K 450 101.0 -101.0 E3 E203 5vDS-3v2 -500 79.0 -79.0
G4 G204 1la V= ¢2 -80 340 -34.0( G1 G201 4v N+1 ¢K 450 101.0 -101.0 |H102 H302 5vD S-3#A -500 79.0 -79.0
A2 A202 3v S-1 &K -100 -3.0 3.0| C2 C202 4v S+1 #Q 450 101.0 -101.0 |[F104 F304 5vD S-3#A -500 79.0 -79.0
G3 G203 2v N-1 8 -100 -3.0 3.0| G2 G202 4v N+1 K 450 101.0 -101.0 Al A201 44 O= ¢K -620 -55.0 55.0
B102 B302 2v N-1 48 -100 -3.0 3.0 A3 A203 4v S+1 ¢4 450 101.0 -101.0| C2 C202 44 O= vK -620 -55.0 55.0
B103 B303 3v N-1 46 -100 -3.0 3.0 A4 A204 4v S+1 #Q 450 101.0 -101.0 E2 E202 44 O= vK -620 -55.0 55.0
H103 H303 3v S-1 «K -100 -3.0 3.0 E4 E204 4v S+1 #Q 450 101.0 -101.0| G2 G202 44 O= vK -620 -55.0 55.0
B106 B306 3v S-1 4K -100 -3.0 30| G4 G204 4y S+1 ¢K 450 101.0 -101.0 A3 A203 44 O= ¢K -620 -55.0 55.0
Gl G201 24 V= ¢3 -110 -3.0 3.0 E5 E205 4v S+1 ¢2 450 101.0 -101.0| C3 C203 44 O= vK -620 -55.0 55.0
C2 C202 1s4 V+1 v2 -110 -3.0 30| G5 G205 4y S+1 ¢4 450 101.0 -101.0 A4 A204 44 O= K -620 -55.0 55.0
A3 A203 24 V= ¢2 -110 -3.0 3.0 C6 C206 4v S+1 #Q 450 101.0 -101.0| C4 C204 44 O= +2 -620 -55.0 55.0
C3 C203 3¢ V= ¢2 -110 -3.0 3.0 E6 E206 4v S+1 #Q 450 101.0 -101.0 E4 E204 44 O= vK -620 -55.0 55.0
E4 E204 24 V= 42 -110 -3.0 3.0 |B102 B302 4v N+1 ¢K 450 101.0 -101.0 A5 A205 44 O= ¢K -620 -55.0 55.0
A5 A205 24 V= &5 -110 -3.0 3.0 |[D102 D302 4v S+1 ¢4 450 101.0 -101.0| G5 G205 44 O= vK -620 -55.0 55.0
G6 G206 3¢ V= ¢3 -110 -3.0 3.0 |[H102 H302 4v N+1 ¢ K 450 101.0 -101.0 A6 A206 44 O= vK -620 -55.0 55.0
H101 H301 3¢ V= v2 -110 -3.0 3.0 |F103 F303 4v N+1 #Q 450 101.0 -101.0| C6 C206 44 O= vK -620 -55.0 55.0
F102 F302 14 V+1 v7 -110 -3.0 3.0 |H103 H303 4v S+1 ¢4 450 101.0 -101.0 E6 E206 44 O= vK -620 -55.0 55.0
D105 D305 3¢ V= ¢2 -110 -3.0 3.0 |F104 F304 4v S+1 #Q 450 101.0 -101.0| G6 G206 44 O= vQ -620 -55.0 55.0
D106 D306 1e V+1 v2 -110 -3.0 3.0 |H104 H304 4v N+1 ¢K 450 101.0 -101.0 |B101 B301 44 O= vK -620 -55.0 55.0
F106 F306 14 V+1 v7 -110 -3.0 3.0 |B105 B305 4v S+1 ¢4 450 101.0 -101.0 [D101 D301 44 V= +3 -620 -55.0 55.0
Cl C201 3¢ V+1 v2 -130 -51.0 51.0|D105 D305 4v S+1 ¢4 450 101.0 -101.0 [F101 F301 44 O= vK -620 -55.0 55.0
E3 E203 3¢ V+1 v2 -130 -51.0 51.0|H105 H305 4v S+1 ¢4 450 101.0 -101.0 |[B102 B302 44 O= vK -620 -55.0 55.0
F103 F303 2¢ V+2 ¢2 -130 -51.0 51.0|B106 B306 4v S+1 ¢4 450 101.0 -101.0 |D102 D302 44 O= ¥K -620 -55.0 55.0
F104 F304 3¢ V+1 v2 -130 -51.0 51.0|D106 D306 4v N+1 ¢K 450 101.0 -101.0 |F102 F302 44 V= &5 -620 -55.0 55.0
E2 E202 24 V+1 v2 -140 -51.0 51.0 A2 A202 4v N= ¢K 420 64.0 -64.0 (B103 B303 44 V= &5 -620 -55.0 55.0
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G5 G205 24 V+1 v2 -140 -51.0 51.0| A6 A206 4v N= &8 420 64.0 -64.0|D103 D303 44 O= vQ -620 -55.0 55.0
E6 E206 24 V+1 v2 -140 -51.0 51.0| C3 C203 2v S+4 v6 230 -165.0 165.0 |[F103 F303 44 O= ¢vK -620 -55.0 55.0
D102 D302 24 V+1 v2 -140 -51.0 51.0|D104 D304 3v S+3 #J 230 -165.0 165.0 |[H103 H303 44 O= vK -620 -55.0 55.0
B105 B305 24 V+1 v2 -140 -51.0 51.0| E1 E201 2v N+3 ¢K 200 -186.0 186.0 |B104 B304 44 O= vK -620 -55.0 55.0
H105 H305 34 V= ¢2 -140 -51.0 51.0| E2 E202 2v S+3 ¢K 200 -186.0 186.0 |[D104 D304 44 O= vQ -620 -55.0 55.0
Al A201 1sa V+3 #A -170 -97.0 970 E3 E203 2v S+3 #Q 200 -186.0 186.0 |H104 H304 44 O= vK -620 -55.0 55.0
G2 G202 14 V+3 ¥2 -170 -97.0 97.0| C5 C205 2v S+3 #Q 200 -186.0 186.0 |B105 B305 44 O= vK -620 -55.0 55.0
C5 C205 24 V+2 v2 -170 -97.0 97.0(D101 D301 2v N+3 48 200 -186.0 186.0 [D105 D305 44 O= ¢K -620 -55.0 55.0
E5 E205 24 V+2 v2 -170 -97.0 97.0|F106 F306 2v S+3 #Q 200 -186.0 186.0 |[F105 F305 44 O= ¢vK -620 -55.0 55.0
B101 B301 1a V+3 ¥2 -170 -97.0 97.0| A5 A205 3v N+1 ¢K 170 -227.0 227.0 |H105 H305 44 O= vK -620 -55.0 55.0
F101 F301 24 V+2 v2 -170 -97.0 97.0|D103 D303 2v S+2 #Q 170 -227.0 227.0 ([B106 B306 44 O= ¢vK -620 -55.0 55.0
H102 H302 14 V+3 v2 -170 -97.0 97.0|B104 B304 3v N+1 ¢K 170 -227.0 227.0 |D106 D306 44 O= vK -620 -55.0 55.0
H104 H304 24 V+2 v6 -170 -97.0 97.0|F105 F305 3v N+1 ¢K 170 -227.0 227.0 |[F106 F306 44 O= vK -620 -55.0 55.0
A6 A206 3v N-2 48 -200 -139.0 139.0 C4 C204 3#V-3 v4 150 -247.0 247.0 |H106 H306 44 O= vK -620 -55.0 55.0
C6 C206 IND S-14K -200 -139.0 139.0 |H106 H306 24 V-3 ¥9 150 -247.0 247.0| C1 C201 44 O+1 vK -650 -100.0 100.0
D103 D303 3v S-2 ¥A -200 -139.0 139.0| G6 G206 2v N+1 ¢K 140 -249.0 249.0| E5 E205 44D O =vK -790 -271.0 271.0
F105 F305 3v S-2 4K -200 -139.0 139.0 |[H101 H301 2¢ V-1 ¢2 50 -349.0 349.0| G4 G204 54D O=+¢5 -850 -321.0 321.0
10 4 Kn6532 Basta kontrakt 11 41032 Basta kontrakt 12 498 Basta kontrakt
Ost v K102 3NT S =600 Syd v 1032 2¢ S =90 Vast v KKn543 4y N D -1-200
Alla + KKn4 Ingen + E10954 NS ¢ E32
#Kn5 & ¢ v o NT *32 & ¢ v o NT #DKn8 & ¢ v & NT
49 & KD107 N 108 8 9 9 & Kn7 « ED865 N6 86 6 7 4 KDKn5 4 E76432 N47 9 4 4
v Kn6 v 97543 S 108 8 9 9 v D964 v K85 S78667 vE7 v6 S 47944
¢ E10983 ¢ 765 O3 45 44 + Kn8 + D63 O757 765 + 1075 + D96 0954909
#D9876 &2 V34544 #K10876 %95 V65775 #E1092 #K74 V95499
& E84 & K94 410
vEDS8 v EKn7 vD10982
¢ D2 ¢ K72 + KKn84
#EK1043 &EDKNn4 #653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F103 F303 44D N= #3 790 473.0 -473.0 |B101 B301 IND S= «J 180 155.0 -155.0 | G1 G201 54D O -2v2 300 410.0 -410.0
G2 G202 3NS+1 9 630 371.0 -371.0 |[F102 F302 INS+3 &7 180 155.0 -155.0 | Al A201 54 O -2 ¥2 100 259.0 -259.0
G5 G205 3NS+1 ¢9 630 371.0 -371.0( C1 C201 INS+2 &K 150 109.0 -109.0 | E6 E206 54 V-2 ¥3 100 259.0 -259.0
H101 H301 3N S+1 ¢3 630 371.0 -371.0 A2 A202 INS+2 &6 150 109.0 -109.0| C1 C201 44 O-1 ¢8 50 196.0 -196.0
H102 H302 3NS+1 ¢9 630 371.0 -371.0 |H106 H306 1IN N+2 ¥2 150 109.0 -109.0| E1 E201 44 O-1 ¢4 50 196.0 -196.0
Cl C201 3NS= 8 600 353.0 -353.0( G1 G201 2NS= &6 120 70.0 -70.0| A2 A202 44 O-1 v2 50 196.0 -196.0
A2 A202 3NN= 7 600 353.0 -353.0( C2 C202 INS+1 &6 120 70.0 -70.0| C2 C202 44 O-1 ¥v9 50 196.0 -196.0
A3 A203 3NN= 5 600 353.0 -353.0| E3 E203 INS+1 v6 120 70.0 -70.0| E2 E202 44 V-1 49 50 196.0 -196.0
E3 E203 3NS= 49 600 353.0 -353.0( A4 A204 2NS= &5 120 70.0 -70.0| A3 A203 44 O-1 v9 50 196.0 -196.0
C5 C205 3NS= #8 600 353.0 -353.0( C6 C206 INS+1 &6 120 70.0 -70.0| E3 E203 44 O-1 v9 50 196.0 -196.0
E5 E205 3NS= ¢9 600 353.0 -353.0 |[D102 D302 INS+1 #8 120 70.0 -70.0| G3 G203 44 V-1 49 50 196.0 -196.0
D101 D301 3NS= ¢9 600 353.0 -353.0 |H103 H303 INS+1 #J 120 70.0 -70.0| C4 C204 44 O-1 v9 50 196.0 -196.0
F102 F302 3NS= 9 600 353.0 -353.0 (D106 D306 2N S= «J 120 70.0 -70.0| E4 E204 44 O-1 v9 50 196.0 -196.0
H103 H303 3NN= ¢5 600 353.0 -353.0| Al A201 2¢ N+1 #9 110 60.0 -60.0| G4 G204 44 O-1 #3 50 196.0 -196.0
D104 D304 3NS= ¢8 600 353.0 -353.0 E2 E202 2¢ N+1 #9 110 60.0 -60.0| E5 E205 44 V-1 49 50 196.0 -196.0
B106 B306 3NS= 3 600 353.0 -353.0( G3 G203 2¢ N+1 #9 110 60.0 -60.0|D101 D301 44 O-1 ¢T 50 196.0 -196.0
D106 D306 3NS= vJ 600 353.0 -353.0 |[D101 D301 2¢ N+1 #9 110 60.0 -60.0 |F101 F301 44 V-1 49 50 196.0 -196.0
F106 F306 3NN= 5 600 353.0 -353.0( G6 G206 INV-2 5 100 32.0 -32.0|D102 D302 44 V-1 49 50 196.0 -196.0
Al A201 44 S-1 49 -100 -211.0 211.0| A3 A203 INS= «J 90 23.0 -23.0|F102 F302 44 V-1 ¥3 50 196.0 -196.0
E1 E201 44 N-1 #2 -100 -211.0 211.0| C4 C204 INS= &J 90 23.0 -23.0|D103 D303 44 V-1 v4 50 196.0 -196.0
G1 G201 44 S-1 #3 -100 -211.0 211.0| A5 A205 INS= 4J 90 23.0 -23.0|H103 H303 44 O-1 +¢9 50 196.0 -196.0
C2 C202 44 S-1 #4 -100 -211.0 211.0| E5 E205 INS= &J 90 23.0 -23.0|B104 B304 44 V-1 v2 50 196.0 -196.0
E2 E202 44 N-1 #2 -100 -211.0 211.0| G5 G205 INS= &J 90 23.0 -23.0|D104 D304 44 O-1 ¥T 50 196.0 -196.0
C3 C203 44 S-1 #7 -100 -211.0 211.0| A6 A206 2¢ N= &9 90 23.0 -23.0|F104 F304 44 O-1 v2 50 196.0 -196.0
G3 G203 44 S-1 &6 -100 -211.0 211.0| E6 E206 INS= 4J 90 23.0 -23.0|H104 H304 44 O-1 v5 50 196.0 -196.0
A4 A204 44 N-1 v5 -100 -211.0 211.0|F101 F301 INS= «J 9 23.0 -23.0|B105 B305 44 O-1 v2 50 196.0 -196.0
C4 C204 44 S-1 &7 -100 -211.0 211.0|B102 B302 INS= &J 90 23.0 -23.0 |H105 H305 44 V-1 vQ 50 196.0 -196.0
E4 E204 44 N-1 #2 -100 -211.0 211.0 |H102 H302 INS= &J 90 23.0 -23.0|F106 F306 44 O-1 v9 50 196.0 -196.0
G4 G204 44 N-1 v9 -100 -211.0 211.0|D103 D303 INS= «J 90 23.0 -23.0|H106 H306 44 O-1 49 50 196.0 -196.0
A5 A205 4v N-1 #2 -100 -211.0 211.0 [F103 F303 2¢ N= &9 90 23.0 -23.0| G2 G202 44 O= v9 -420 -272.0 272.0
A6 A206 44 N-1 ¢5 -100 -211.0 211.0|F104 F304 INS= «J 90 23.0 -23.0| C3 C203 44 O= v2 -420 -272.0 272.0
C6 C206 44 S-1 &6 -100 -211.0 211.0|B105 B305 2¢ N= &9 90 23.0 -23.0| C6 C206 44 V= &Q -420 -272.0 272.0
E6 E206 44 S-1 #6 -100 -211.0 211.0|D105 D305 INS= «J 90 23.0 -23.0| G6 G206 44 V= #J -420 -272.0 272.0
G6 G206 44 S-1 vJ -100 -211.0 211.0|B106 B306 INS= «J 90 23.0 -23.0|B106 B306 44 O= v2 -420 -272.0 272.0
B101 B301 44 S-1 &6 -100 -211.0 211.0 ([F106 F306 INS= «J 90 23.0 -23.0( A4 A204 44 O+1 #Q -450 -318.0 318.0
D102 D302 44 S-1 #8 -100 -211.0 211.0| E4 E204 2#V-1 v2 50 -26.0 26.0( A5 A205 54 V= 3 -450 -318.0 318.0
B103 B303 44 N-1 #2 -100 -211.0 211.0 ([B103 B303 2v O-1 vA 50 -26.0 26.0| C5 C205 44 V+1 8 -450 -318.0 318.0
D103 D303 44 N-1 ¢5 -100 -211.0 211.0|B104 B304 24 O-1 ¢2 50 -26.0 26.0| G5 G205 4« V+1 &Q -450 -318.0 318.0
B104 B304 44 N-1 ¢5 -100 -211.0 211.0| G2 G202 2NS-1 4J -50 -157.0 157.0 |B101 B301 44 V+1 #Q -450 -318.0 318.0
F104 F304 44 N-1 ¢5 -100 -211.0 211.0| G4 G204 2NS-1 «J -50 -157.0 157.0 |H101 H301 4« V+1 #Q -450 -318.0 318.0
H104 H304 44 N-1 5 -100 -211.0 211.0 |H101 H301 3NS-1 &6 -50 -157.0 157.0 (B102 B302 4« V+1 &Q -450 -318.0 318.0
B105 B305 44 S-1 &8 -100 -211.0 211.0 |D104 D304 2N S-1 &J -50 -157.0 157.0 |H102 H302 4« V+1 &Q -450 -318.0 318.0
D105 D305 44 N-1 5 -100 -211.0 211.0|F105 F305 2NN-1 «J -50 -157.0 157.0 (B103 B303 4« V+1 48 -450 -318.0 318.0
F105 F305 44 N-1 ¥3 -100 -211.0 211.0 |H105 H305 2N S-1 4J -50 -157.0 157.0 |F103 F303 44 V+1 #Q -450 -318.0 318.0
H105 H305 44 S-1 #2 -100 -211.0 211.0| E1 E201 14 O= 44 -80 -195.0 195.0 (D105 D305 4« V+1 #Q -450 -318.0 318.0
H106 H306 44 N-1 #2 -100 -211.0 211.0| C3 C203 3NS-2 ¥4 -100 -215.0 215.0 [F105 F305 4« V+1 #Q -450 -318.0 318.0
F101 F301 44DN-1#2 -200 -319.0 319.0| C5 C205 3NS-2 #J -100 -215.0 215.0 |D106 D306 4« V+1 #Q -450 -318.0 318.0
B102 B302 44DN-1¢5 -200 -319.0 319.0 ([H104 H304 3NS-2 4J -100 -215.0 215.0| A6 A206 5¢vDN-34A -800 -530.0 530.0
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